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QUESTION 1

When was the Columbian Exposition? 

A. 1891 

B. 1892 

C. 1893 

D. 1894 

Correct Answer: C 

 

 

QUESTION 2

How many acres are in one hectacre? 

A. 2.47 

B. 2.48 

C. 2.49 

D. 2.5 

Correct Answer: A 

 

QUESTION 3

What is the best use of a Gantt chart? 

A. Allocation of time among various tasks 

B. Illustrate how different tasks are related 

C. Illustrates how one task must be completed before beginning another 

D. Utilizes a table with alternatives in the rows and various impact factors in columns 

Correct Answer: A 

 

QUESTION 4

In 1973 the Energy Policy Conservation Act established CAFE standards for cars and trucks. What was the standard at
that time for cars? 

AICP VCE Dumps | AICP Exam Questions | AICP Braindumps                                2 / 3

https://www.pass2lead.com/aicp.html
https://www.pass2lead.com/aicp.html
https://www.pass2lead.com/aicp.html


https://www.pass2lead.com/aicp.html
2024 Latest pass2lead AICP PDF and VCE dumps Download

A. 20.7 miles/gallon 

B. 27.5 miles/gallon 

C. 30.7 miles/gallon 

D. 37.5 miles/gallon 

Correct Answer: B 

 

QUESTION 5

A MSA includes: 

A. At least 2,500 but less than 50,000 and a population density of 1,000 persons per square mile 

B. Urban nucleus of 50,000 or more with a core density of 1,000 persons per square mile 

C. Population of 2,000 to 8,000 people 

D. At least one city with 50,000 or more and a total metropolitan population of 100,000 

Correct Answer: D 

AICP VCE Dumps AICP Exam Questions AICP Braindumps

Powered by TCPDF (www.tcpdf.org)

AICP VCE Dumps | AICP Exam Questions | AICP Braindumps                                3 / 3

https://www.pass2lead.com/aicp.html
https://www.pass2lead.com/aicp.html
https://www.pass2lead.com/aicp.html
http://www.tcpdf.org
https://www.pass2lead.com/aicp.html
https://www.pass2lead.com/aicp.html
https://www.pass2lead.com/aicp.html

